
Part-Whole Model

Use the clues below to work out what the possible missing numbers in the part-whole 

model could be. Find 3 possible answers.
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• The whole is more than 6 but less than 10.

• One of the parts is 0.

• One of the parts is less than 5.

• One of the parts must be written as a word.



Part-Whole Model

Use the clues below to work out what the possible missing numbers in the part-whole 

model could be. Find 3 possible answers. 

Various answers, for example:
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• The whole is more than 6 but less than 10.

• One of the parts is 0.

• One of the parts is less than 5.

• One of the parts must be written as a word.
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